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Question ID:- 1

DWINDLE
(1) Fight
(2) Work
(3) Abate
(4) Enlarge
Options:-

=1, OptionID :- 1,
= 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,

Subject : GE_Q01-Q10_PRT25FEBSH2

Choose the word similar in meanmg to the one given above.

Answer Given:- 3, Option ID : -3

Question ID:- 2

SCORNIUL

(1) Courteous

(2) Brash

(3) Stormy

(4) Heavenly
Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,
= 4, Option ID :- 8,

Choose the word opposite in meaning to the one given above.

Answer Given:- 1, Option ID : -5

Question ID:- 3
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Identify the part of speech of the underlined word in the following sentence.

We are keen to go on a vacation.

(1) Noun

(2) Pronoun

(3) Verb

(4) Adjective
Options:-

=1, Option ID :- 9,
= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

I have always liked you.
Choose the option in which the above sentence has been correctly put into Passive Voice,
(1)  You have been liked always by me.

(2)  You had been liked by me.

(3)  You have always been liked by me.

(4)  You have been always liked by me.
Options:-

=1, Option ID :- 13,
= 2, Option ID :- 14,
= 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Ramneek will say, “I am going to Gulmarg.”

Choose the option in which the above sentence has been changed into Indirect narration.
(1) Rammneek will say that he is going to Gulmarg,.

(2) Rammeek will say that he was going to Gulmarg.

(3) Ramneek will tell that he will be going to Gulmarg.

(4)

4 Ramneek tells that he would be going to Gulmarg,.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
= 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17
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Question ID:- 6

Identify the part of the following sentence which has an error.

Neither Ram nor Sham were present in the office.

(@) (b) (©) (d)
(1) (d)
(2 (o)
(3) (b)
(4) (a)
Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
= 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

GET IT ON
Google Play

Question ID:- 7

and grammatically correct sentence.

(A) cut his

(B) a knife

(C) hand

(D) the boy

(E) with

(D (A)(©) (B) (D) (E)
(2)  (B) (D) (A) (E) (€)
(3) (D) (A) (O (E) (B)
4 (© (E) (B) D) (A)
Options:-

=1, Option ID :- 25,
= 2, Option ID :- 26,
=« 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Choose the option in which the following words/ phrases have been rearranged to form a meaningful

Question ID:- 8
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Fill in the blank in the following sentence.

Two days ago Ram along with Sham present here.
(1) were

(2) have been
(3) has been

(4) was
Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9

Fill in the blank in the following sentence.

Dogs have antipathy cats.
(1) to
(2) with
(3) for
(4) on
Options:-

=1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Fill in the blank in the following sentence.

Latika is very indulgent her child.
(1) to

(2) on

(3) with

(4) for

Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
= 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PRT25FEBSH2
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Question ID:- 11

== feu U TEie S Ut SHW SNHRE WeA 1 gaiftue sfed fased 1 w9q s -

S Ted Bed | WIIE HeAryl sl od o Heh a7 39 &1 S 3791 UHHTA Theiod §Hel-UH Jaehi o |1 w1 Hid
T | 3% STd i, TS o 941 ITH N o1 HA ek 1 | YRATE Jaehl W & 4% &l dqul &9 # falR 2

TSN o T W E -

(1) 9 =1 faear

(2) R 1 HeA

(3) S-SR 1 Ted

(4) I =T
Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

= feu T Ty W ues SR ennfia we & gaifyes sfuq fawea 1 =z e -

S TS 59§ I A 1 Fd o Heh A1 39 & S 37971 THHTE e §He-UH Jaehi % 91
T | 3= ST K, TS A 947 STH N 1 53 ek < | YRATE Zaehl W & 78 w1 gy w9 fsl &)

o9 T8 &% ol il HEITHA B ?

(1) il YA & Al & T- T ©
(2) S 9RdT Hepfa o famm 9w ©
(3) S 9RA % SH & foe yfeeg €
(4) SN 379 FHASA UG W A &
Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
=« 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13
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e feu T TR W Ues I U YA & gaifyes sfud fased 1 9zH wife -

S T 78T W AT e i o of Feh qu SH & S 2191 UHHH Theod GHs- U4 ekl 3 1 i i
R | 32 ST A, Tfod U a1 ITH AW 1 53 Heh 2 | IR qaehi 9 & 48 w5y w5 9 el )

T Hedw o foru smeavss & -

Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49

Question ID:- 14

== fou U TR 1 uge SEW n9iid w9 o gaitye 3fEa fawed #1 =5 sifsu -

S T %Ed W RS He] i o of Feh q SH & S 2191 UHHH heod GHe- U4 Feeh! 3 1 i i
T | 3% ST R, TS ol 941 ITH W 1 HA ok &l | IR gaehl 9 & 48 e Yol ' F fei )

IR HeAT o Uah Heaqu 1a9d & -
(1) Torfam 2
(2) e FHEA
(3) TS FFT B
(4) TN HE
Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,
= 4, Option ID :- 56,

Answer Given:- 4, Option ID : -56

Question ID:- 15
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e feu T TR W Ues I U YA & gaifyes sfud fased 1 9zH wife -

S Tod Bed | WIIE HedTyl sl od of Heh a1 39 &1 S S79H1 UHHTA Hheiod §Hel-UH Jaehi o 1Y w1 Hid
R | 32 ST A, Tfod U a1 ITH AW 1 53 Heh 2 | IR qaehi 9 & 48 w5y w5 9 el )

(1) fea
(2) =4
(3) =9
(4) 34
Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
=« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

AHH-aEYd = T Bl © -

(1) =M=
(2) -3y
(3) THS-FHE
(4) T
Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17
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Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 18

(1) Sr+ed
(2) HT+3eA
(3) wI3+eA
(4) HIF+3A
Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
=« 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

‘o3’ = faeig ores ® -
(1) S99

(2 gfe=

3 fo=

(4) T
Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20
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‘T % feru sisH Wi €S 1 e wEifed Su d R © -
(1) =& HEH
(2) SUEH HH
(3) HYSH HH
(4) HAY FH
Options:-

=1, Option ID :- 77,
= 2, Option ID :- 78,
= 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PRT25FEBSH2

Question ID:- 21

Consider the following statements concerning “Water Heroes: Share Your stories contest ?

(A) The scheme was launched by the Department of Water Resources, River Development and
Ganga Rejuvenation and Ministry of Jal Shakti.

(B) The contest is held every six months.

(C) The participants are required to post their success stories on water conservation efforts in the
form of 1-5 minute video, along with a write up of 300 words.

Choose the correct answer from the code given below.
(1)  (A) and (C) only

(2) (A)and (B) only
(3) (B) and (C) only
(4) (A) only

“ameR EIS: YRR AR W wfifer o gey | frefafe wee w faem s

(A) 7% TS S WETeH, et T SR T wear fam, ofR s wfe waerd gR 9w T o
(B) ¥ wieaifian &t o8 "re H &rifsd 1 Sl ¢

(C) gfamfied = Siet |eew T2 9T ST0H Soher w1 wert @l 1-5 foe % fafea % meem 9 300 vkl

F o F T TR FE H e e ¥
9 feu U FHiE § W ST FH T Hifo |
(1) aa (A) R ()
(2) A (A) R (B)
(3) ad (B) ¥R ()
(4) Had (A)
Options:-

=1, Option ID :- 81,
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= 2, Option ID :- 82,
= 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which book/title was awarded the Bal Sahitya Puraskar, 2022 in Kashmiri language by the Sahitya
Akademi ?

(1) Vatne Gur

(2) Daiel

(3) Zoon Monj

(4) Khudayes Hawali

Hifeed STeHRIGHT §RI FHEHRT 9191 § 99 2022 =1 91e Hifeed JIE6R fod J&ieh/3ides 1 WeM Tz a1 ?

(1) @ TR
(2) =

(3) SETHIS
(4) TEEH gl
Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Who won the Rashtriya Khel Protsahan Puraskar 2022 under the category ‘Identification and
Nurturing of Budding and Young Talent’

(1) Steel Authority of India

(2) Trans stadia Enterprises Private Limited
(3) Services Sports Control Board

(4) Tata Steel
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2di2) Fvit & e a9 2022 1 UEE T WHE TRHR R S ?
(1) i \39ifE it gfem

(2) oim wfea sermss ueee fafiee
(3) wiEHs vey Hed are
(4) 2@

Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

‘e iR gan gfaw # vgeE iR 3% fasfad s’ (smEefefrrym de afin e afgen dg @

GET IT ON
Google Play

Question ID:- 24

Who won the Presidential election in Kenya which was held in August 2022 ?
(1) George Wajackoyah

) David Mwaure

) Raila Odinga

) William Ruto

(S e

(
(
(

Sy

STE, 2022 F = # gu gl g H e fasdt @2

(1) TSt FTSTREE

(2) efag gage

(3) Yenm HifEm

(4) fafermm =
Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

Development ?

(1) 2001-2010
(2) 1991-2000
(3) 2011-2020
(4) 2021-2030

Which decade is/was declared as the ‘“UN Decade of Ocean Science for sustainable
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for g9 &1 999 T2 9ad faed & fau qemrR faem oo’ (7 @@ fese oife it 95g wR

A SaeyHe) =Nfud faam man ?
(1) 2001 - 2010

(2) 1991 - 2000

(3) 2011 - 2020

(4) 2021 - 2030
Options:-

=1, Option ID :- 97,
= 2, Option ID :- 98,
= 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 26

What is the role of Saliva in the digestion of food ?

(1) It breaks down fats into fatty acids and glycerol.
(2) It breaks down the starch into Sugars.

(3) It breaks down proteins into amino acids.
(4)

4) It breaks down complex Sugars into simple Sugars.

IS % U § AR i e § 2

(1) =8 =5 @i et ufge i Temsfiia ¥ dea
(2) 9% € & THT H dEa g

(3) T W =l Ui ufee H dred g1

(4) 7% Gfves v i QruRoT IR H dsdr 7
Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27
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Who among the following leaders was defeated in the “Battle of Waterloo” in 1815 ?
(1) Czar Alexander

(2) Charles II
(3) Napoleon Bonaparte
(4) Henry IV

oY 1815 H ‘A=Y % g5 H fRE T & oo g8 o ?

(1) S Telesiat

(2) =Y

(3) FiferEa SR

(4) TRV
Options:-

=1, Option ID :- 105,
= 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Which of the following has not been guaranteed as a justiciable right under Part III the Indian
Constitution ?

(1) Protection from being punished for the same offence twice.
(2) Equality of opportunity in matters of public employment.
(3) Equal pay for equal work.

(4) Protection of personal liberty.

YRA % GlauE F 9 dH F Aala u Ay sifusn F w9 H frment TR a8 < €2
(1) T & 9 % fog S ar <fed fhy i § s

(2) ik TS o "l W STEER hl WHIFAT

(3) THM FM % felt o= e

(4) fesr @ 1 HE

Options:-

«1, Option ID :- 109,

= 2, Option ID :- 110,

« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111
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Question ID:- 29

Which of the following states in India has the highest percentage of households using clean fuel for
cooking according to the National Family Health Survey 2019-21 ?

(1) Telangana

(2) Tamil Nadu
(3) Andhra Pradesh
(4) Gujarat

I URER e Faaqv, 2019-21 % 9N 9Rd & 8 159 & 9Er gR @8 99 & 340 T &
g Haifes &2

(1) e
(2) dfEerTg
(3) YIS
(4 Ted
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
= 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

‘Bewar’, ‘Podu’, “Dahiya’ are Indian names of which form of cultivation ?
) Slash and Burn Agriculture

1
2 Terrace Farming
3

— — —" —

Sy

)
) Agro forestry
) Livestock farming

‘Fat, ‘arg’, ‘aifem’ Edt % R YER % W A E 2

(1) e i S Sdl (& e &)
(2) HigRR Bt

(3) Hfu =nfept

(4) TIHT T
Options:-

=1, Option ID :- 117,
= 2, Option ID :- 118,
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= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PRT25FEBSH2

Question ID:- 31

In the following number sequence, find out how many times ‘7, 5 and 3" have appeared together in
the same order ?

738 733785 X 8373753753

(1) 4
2 5
3 3
(49 2

fr=fafes 9= w9 5 98 F9 Fifeu f6 /7, 5 2R3 faa- o) vy 59 9 H 2 € 2
3 5375 75375753753

|

L
2
3

7
4
5
L
4 2

" — — —
S b e B R S

Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32

Ankit starts from his house and walks 40 metres in north - west. He then turns and walks
40 metres in north - east. He again turns and walks 40 metres in south - east and final]y he turns
again towards his house. In which derection is he now moving ?

(1) South
2)  West
3) East

(
(3)
(4) South-west
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sifera 2109 R E For § oI IW-UE i SR 40 WY Tea §1 R 9 guEar § SR Sw-gd # @R
40 T2 Tl €1 a8 TR gual € SR Sfu-ud § 40 Hiex el € 2R ofd § o7 W H SR gEa 21 o
= fra e A S @i &2

(1) feo

Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

A, B,C D, E F G and H are sitting around a circle at an equal distance facing the centre of the
circle. There are two persons between ‘F’ and ‘H’. ‘G’ is immediate neighbour of neither ‘A" nor
‘B’. B sits third to the left of “A’. “A’ sits second to the left of 'H'. ‘D’ sits second to the leftof 'G’. ‘E’
and ‘F’ are neighbours. Who is sitting immediate right of ‘G"?

(1) C
2 D
3) E
(4) F

A, B,C,D,EF,G 3R H U% g % 91| 3% 3HF &5 &I 31K §e e 999 g WA 81 F ‘e &
o= g = E 1 G A A R T B B R ehead verd 1 B, ‘A’ F 9 IR diY TIE W A B
‘A, H R I SR TR Y W AST 81 ‘D, ‘G % A SR R T WSSl g1 E R F et ¥
‘G’ % UHheH TR 3R HIF AST R ?

1)
2)
3)
)

Options:-

(
(
(
(

Mg 0

Ny

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34
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Given below is a question followed by two statements numbered I and II each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q: Suman ranks 39" from the bottom in a class. What is her rank from the top ?
(I): Rajan ranks 12 from the top and 34" from the bottom in the same class.
(IT) : There are 45 students in the class.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient.

(3) Either statement (I) or (II) alone are sufficient to answer the question.
(4) Both the statement (I) and (II) together are necessary to answer the question.

e us WA fen o 2 forees o S e 1eiR 1 fou o & fod | weies § g w7 e
frofr ifse & FE-1/3 T 999 F1 S e & fag 72 g/8 |

q: A T Rl H A= W 3991 6 ¢ | SHH TR H T 82
HT (1) : TS 1 U F9A H SR Y 1297 o = G 34 91 ek )
HYF (1) : FoT H 453 T

) SR (I) 3Thot UYH 1 ST o7 & [T A & Siefsh e (I1) 31ohet 9w =&l €
) SRYA (II) TR U9 F1 I oA & fau g & Siafs e (1) 3rhel v =&l €1
3) YA (I) a1 (1) Tehel Y94 o1 I & & AT g7 21
) e (1) 3R (11), S e 9 &1 3 oA @& fan eraws 2

Options:-

=1, Option ID :- 133,
= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35
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In the diagram given below, circle H represents honest, circle I represents intelligent, circle O
represents optimistic and circle P represents punctual persons.

| feu U stE #, 99 ‘H’ $HMeR #, 99 ‘T gfeqH, 99 ‘O SNEmE! 991 g1 ‘P gHAfes Al
gfafrfece e 2|

H

A,
A

0
fopem =aferm wmafee, semand! ik s9MeR & fohg Sfigmm =21 § 2

(1) 2
(2 3
(3) 5
(4) 7
Options:-

=1, Option ID :- 137,
= 2, Option ID :- 138,
= 3, Option ID :- 139,
= 4, Option ID :- 140,
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Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT25FEBSH2

Question ID:- 36

A user communicates with a computer with the help of :
(1) Software

2) Input devices

3) Output devices

)

Input and Output devices

(
(
(4

T Y ! e ¥ HPel § HIHr % ¥
(1) WIS

(2) =T feamw

(3) @Seye feamy

(4) ¥ SR e feamy

Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

RAM stands for :
(1) Read Active Memory

(2) Read Access Memory
(3) Random Active Memory
(4) Random Access Memory

™ (RAM) 1 19 & :

(1) Read Active Memory
(2) Read Access Memory
(3) Random Active Memory
(4) Random Access Memory
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Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

Which of the following software you preferred most to design a multimedia presentation to explain
some concepts of your courseware with the help of some images, audio and videos ?

(1) Microsoft Edge
(2) Microsoft Excel
(3) Microsoft Team
(4)

4)  Microsoft Power Point

ST9 UIGPERY i FS Heheu sl 1 $8 g, siifed iR difed =1 wema & v w37 ¥q U AedHifen
gEfd M % AT o sF § Sied S gaifus mefysda $ 2

(1) HEHRER T

) UEEHERE TR

(3) HRSHIER IH

) HIESHIEITRE e EEe

Options:-

=1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39

A computer program that copies or replicates itself across network or internet is called :
(1) Spam

2

3) Anti-Virus

)
) Worms
)
) Trojan Horses

(
(
(

=
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Tk P YU Sl 28 a1 §ei4e W W& i 31ahid daR Ll &, 1 el ¢ ?
(1) ¥ (Spam)

(2) @FEH (Worms)

(3) Ul APRH (Anti-Virus)

(4) IS BES (Trojan Horses)
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Identify the type of network, when two or more branches of a school society, situated within same
city, are connected together using optical fibre to share some data and information ?

(1) PAN
(2) LAN
(3) MAN
(4) WAN

9 U WIeX it Frord Ue Thel Wiargdt i o1 21 369 Afien vmael i $9 g oi SIFeRT e A &
feru siifesel FEe i el ¥ 2m9d 8§ Siel sar © of e 9=R &1 J2de o=l & ?

(1) 9 €T (PAN)

(2) TA LTI (LAN)

(3) THTTT (MAN)
(4) S UTT (WAN)

)
)

Options:-

=1, Option ID :- 157,
= 2, Option ID :- 158,
= 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q55_PRT25FEBSH2

Question ID:- 41
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Which one of the following plays a major role in learning of the child ?

(1) Growth

(2) Development
(3) Maturation
(4) Emotion

e ¥ e § Frerifed § 9 freE w2

(1) s

(2) fa=wrd

(3) aftgeE

(4)
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

Normally cognitive development occurs at which age of the child ?
(1) 0-6 years

) 12 - 18 years

) 6- 12 years
)

L2 D

(
(
(

=

15 - 20 years

QHRE: JdF | G faem, Fefea § @ e aa-aid g g 2

(1) 0" 6=
(2) 12918 9Y
(3) 6¥ 127"
(4) 1592099
Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166
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Question ID:- 43

The “Thinking’ part of child’s development comes under :
(1) Physical domain
Cognitive domain

S ]

(
(
(

)
) Emotional domain
)

=

Social domain

1ot o faem = ‘e’ s, feifea o 9 foraer sfaria o &2

(1) i &3

(2) HHHATEE &

(3) HaTMETH &

(4) TS &
Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
= 3, Option ID :- 171,
= 4, Option ID :- 172,

Answer Given:- 2, Option ID : -170

GET IT ON
Google Play

Question ID:- 44

The Body’s reaction to facial expression would be included in :
(1) Cognitive domain
Physical domain

e o

(
(
(

)
) Communicative domain
)

Socio - emotional domain

Jel % TE-9E W YRR F xR, Freirg § 4w siaiq wfmfad gm 2
(1) HFEEF &

(2) wfEF &=

(3) HIWU &=

(4) GrfSER-HameTE &

Options:-

=1, Option ID :- 173,
= 2, Option ID :- 174,
= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176
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Question ID:- 45

Which one of the following could be stronger need among ‘Adolescents” ?
(1) Physical need

(2) Social and Emotional needs

(3) Belonging

(4) Discipline

forei & fifera § & =1 waet STEvaedl § 2
(1) wifEw e

(2) IS AR HATHE HATIEH
(3)  SreHHAl

(4) SITEA

Options:-

=1, Option ID :- 177,
= 2, Option ID :- 178,
« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Now a days which one of the following abnormal trait normally seen in adolescent youth in

schools ?

(1) Violent behaviour
(2) Less eating

(3) Untimely eating
(4) Disrespect to elders

= el wmraan Tl § fReiR gael § frg WeRR ST STaEreIan <@ i e € 2
(1) TEus =aer

(2) 319 IS TR LA HT AL

(3) STHEA HISH TBW

(4) 23S & 9 FRE 1 9@
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Options:-
=1, Option ID :- 181,

= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

What the schools should do to address Juvenile problems ?
(1) Frequent conduct of sports and games
Listen to them carefully

ST e

(2)
(3) Give them responsibility
(4)

4)  Arranging regular professional counselling in schools

fergirrereen &1 guEArsii o fanu gq fammerd =1 @ &3 = ?

Taemerd § frafig 9r W sramfEs g S sgeken FE

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

What is the role of family in educating the child ?
(1) Imparting values
To ensure balanced diet

SR e

(2
(3) To buy adequate numbers of books
(4)

4 To ensure attendance in school

e ) forferd e o ufEr = @ i adt &2
(1) Hei I fen 9g@ FE

) Hdfeid SRR gifeEd e

3) HAH e | yEme Gl

) Tammer # 3uftafa gt &
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Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
« 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

Which one of the following would be good example of extended learning of the child ?
(1) Completing the written work at home.

(2) Completion of reading of para at home.

(3) Homework given by the teacher on life situation.

(4) Project work.

Freiferd H | =0 aTereh] o forg faeafia o =1 3o Sema 81 Uehdl 8 2
(1) 78 T oEd Fd g0 HE

(2) & WU H 97 FE T HA

(3) SfteM H et uftfeafci o Heiy H 7eATIs GRS T 7w
(4) TS wE

Options:-

=1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Who should bridge the home and school ?

(1)  School

(2) Home

(3) Community
(4)

4 Parents
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fr=ifera | 9 ford 778 iR fammer o e g &1 %1 % =il ?

(1) fo=me™

(2 T

(3) HY]™

(4) HE-fo
Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51

Why only the school is considered for learning centre ?
(1) All qualified teachers are available.
Resources are available for learning,

S ]

(
(
(

)
) Financial resources are provided in school.
)

fry

The required learning and socializing parameters are available only in school.

Freifera # 9 form wroem Faa former &l € Sfer % 71 S & 2

(1) =t Frg AT IeTy B § |

(2) afirm % fero Tonum U 2 ¥

(3) Toramerd # fa<dia GayE SUae US4 21

(4)  STUTRTd—HATRTH e HHTSIR & AIYGE ohael foamed | & 3qersd 8id ¢ |

2

Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

Which one of the following is the characteristic feature of development task ?
(1) Acquiring psycho motor skills at appropriate age.

(2) Development of values as the child grows

(3) Enhance learning levels in school.

(4) Socialization level increases.
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fre=ifera & | = famrrareess e &t sifvenerfors fargrom & 2
(1) 3UgH T H TAEF Hive &l s

(2) @TETeh % 9 W 3 e #l famd
(3) faemem § sifirm & w A ofg

(4)  ETHSIERTO TR G €
Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,

= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

Increasing height and weight of the child comes under :
(1) TPhysical growth
Emotional growth

(S e

(2)
(3) Cognitive growth
(4)

Sy

Social growth

A i ciag 3R 9% aei § gfg fifha o | former 2380 ot & 2

(1) wrifer g

(2) Hames gfg

(3) HIFIHS dfg

(4) HHISE gfg
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54

Regular participation of social workers and parents in school programmes often termed as :
(1) Family - students connectivity

(2) Social connection

(3) Home - School continuity

(4) Family - Teacher connectivity



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

feramer™ = sl § Fraifser Frismais] SR - faar s i Sgaifi # s 2 el Sh1 g ?
(1) ofErR-faznei deem

(2) HrHIfSEs HaY

(3) TE-fa=me™ g

(4) URER-AEA9H HHHRI

Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55

The power of imagination is normally higher in :

(1) Child

(2) Adolescents
(3) Adult

(4) Senior citizen

grar=aar f=ifea § § fed seammefs = et 82

(1) =meteh
(2) feremR
(3) @FER
(4) @Ry AR
Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT25FEBSH2

Question ID:- 56
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(1) Law of Effect

Law of Trial and Error

L2 D

(
(
(

)
) Law of Readiness
)

Ny

Law of Exercise

SHETE % TR AR H FHRw e #1 fagia # FHee § 7
(1) wvE g

(2) WA 3R Ife w1 fram

(3) e = frEw

(4) A 1 FEH

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
« 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

The principle of positive reinforcement in learning mentioned by Thorndike is 3

GET IT ON
Google Play

Question ID:- 57

Which one of the following is one of the principles of learning ?

(1) Apttude

(2) Motivation

(3) Attitude

(4) Interest

freifera § § = s &1 fagia 2
(1) sfvsf=

(2) SRy

(3) efafa

(4 w=
Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,
= 4, Option ID :- 228,
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Answer Given:- 2, Option ID : -226

GET IT ON
Google Play

Question ID:- 58

The basic Principle of constructive learning is

(1)

J'_ntegrated learru’ng

(2) The learner builds new knowledge upon foundation of previous learning
(3) Diversity

(4) Convergence

AT AT = g fagid §

(1) THFa sHferm

2)  wifepmmeRdl gd efnm it i & snurR W T IE A wmwe d
)

(

(3) fafeem

(4) SAfvERa
Options:-

=1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

‘Practice makes man perfect’ is apt for
) Law of Readiness

) Law of Exercise

) Law of Motivation

) Law of Effect

i
2
3

" — —" —

4

‘v 9 eafw H quia At @' 9% e freifed § § foees forg 3uge © 2
(1) 9% = |

(2) &I 1 fEm

(3)  Afumwr = fam

(4) 99E == fFEH

Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,
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= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

GET IT ON
Google Play

Question ID:- 60

What is the significance of ‘Feedback” system in classroom ?
(1) Itis part of Administrative requirement

(2) To inform parents about learning levels of children
(3) Scope for introspection and further improvement
(4)

To approve school grants

el | wfagfe’ = e el B 2

(1) o8 wemafTer ST9em &1 30w ¢

(2) @kl o SATEH W %k AR H SAM9EH 1 Gied w0
(3) smeAfitarer of STiay Yo Y TSy

(4) Tommer™ & ergH # Wigd &

2

Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
= 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61

What is ‘Formative assessment” ?
(1) Evalution at the end of academic session
Paper-pencil test

ST ]

(2)
(3) Evaluation on regular and periodical basis
(4)

4)  MCQ Test

(1) Sefores 79 % ofd § gedieA
(2) HFETS-UTHE T
(3) Trafim ik wafus suR w qeas
(4) =g fasredr 7o adtarm
Options:-

=1, Option ID :- 241,
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= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

ICT tools in classroom

(1) can replace the teacher.

) can supplement to teacher.

) can be threat to children.

) can be best teaching and learning aids.

e T

(
(
(

eyl e H HARN AR G GEireh] & I ;
(1) 1% o Wioeenfid T e €1

(2) A % fau ATEF € T €

(3) @i % AT @aq & T B |

(4) TETTH STEAME SR AT YR S T € |
Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

What is the significance of Instructional material in classroom ?
(1)  Arouses curiosity

(2) Breaks monotony

(3) It is administrative requirement

(4) Enhances learning

e ° e Qradt & @ vee B ?
(1) 99 SEH Fedt T
) THY UHEHTT HHWE Bl B

(2)
(3) ¥e gurEfr SThet ¥
(4) &R e § 9fg ot T
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Options:-

=1, Option ID :- 249,
= 2, Option ID :- 250,
= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

Competency based teaching basically is
(1) Learner-centric

(2) Teacher-centric
(3) Curriculum-centric
(4) Activity-centric

T ST TR Herd: BT § ;

(1) SATerTeRdi-hf=d

(2) HEAIFH—hl=d

(3) UE=Al-hi=d

(4) TorarRam-hf=d
Options:-

=1, Option ID :- 253,
= 2, Option ID :- 254,
= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Question ID:- 65

Why “syllabus’ is important in classroom ?
(1) Easy for teachers and students

Administrative requirements

= 2 2

(
(
(

)
) To execute classroom transaction effectively
) It provides scope and direction in a particular subject to attain expected outcomes
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el H ‘ureeEn | i Hewyv § 2

(1) =% e 3R faenferdi % fora smam & 21

(2) IE YOEE o7 T

(3) &N H WuET €1 ¥ HoHaRn e ¥

(4) =EE ot fawa fodm § srifer gfirer 9 62 =61 Joie iR Frewr o 2 )

Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66

What is the role of student outdoor activities in education ?
(1) Promote entertainment

) Promote social skills

) Leads to self-confidence

)

Leads to better learning

e o

(
(
(

foven & & ¥ famndf & afedn Friswem w1 @ i &2
(1) 398 TFISH =i gga faea g1

(2) 98 TrIfeE e = aegE e &
(3) THH HeTEEY SAHTIvE Tl 2|
(4) THY S ATH YrH 2 E |
Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 2, Option ID : -262

Question ID:- 67

Which one of the following factors may badly affect learning ?
(1) Noisy surroundings
Bad social circles

e T

(
(
(

)
) Small classroom
) Discomfortable Furniture
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Freifera § 9, fred sifrmm 991 a8 yeifead 2 g & 2

(1) g gfEw

(2) FI GmEfSE Hafd

(3) B FE-FE

(4) TR-SIRIRE WA
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

GET IT ON
Google Play

Question ID:- 68

What should be the nature of teacher-student relationship ?
(1) High degree of Intimacy

Desirable social behavior

(ST e

(
(
(

)
) Supportive and non-threatening
) Unbiased

Ny

syemgeh-forenelf weiy i werfa et St =nfew ?
(1) FFfaF =f g

(2) SIS HHITSH SRR

(3) HEANTHS 3R Hafed

(4) YamERd

Options:-

=1, Option ID :- 269,
= 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

What is the role of learner in cognitive learning ?
(1) Inhibits actions
Social participation

ST ]

(2)
(3) Passive participation
(4) Active participation
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AT A | stferraendl’ ot an yfge & 7

(1) fqenyes *
(2) ErfSER WRTER
(3) fafsra wmiierd
(4) g vrieR
Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70

What is the demerit of Behaviouristic learning ?
(1) It will enhance learning,
It focuses on surface behavior only.

S e

(
(
(

)
) It focusses on deep intellect.
)

4 Learner will not take leamjng serious,

ZEEIIRE I & €Y § 7

) =4 wifepmm  gfg Enft

) U hael aTed SAg8R Y Bl B hi-gd {1 S g |
3) HH Med gfg W =AW hiwgd fha s ¥

) StferTTeRdl SIfERTH T TiRaT | ARl o |

Options:-

=1, Option ID :- 277,
= 2, Option ID :- 278,
= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE_Q71-Q80_PRT25FEBSH2

Question ID:- 71

‘Dyslexia” refers to :

) Inability to learn
) Inability to read
) Inability to speak
) Inability to see

i
2
=

— — —" —

4
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fewcifen & sifidd &

(1) sifermg & srEmed g
(2) U hI ST&IH

(3) @ i ST&THT

(4) TEH HI A
Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

GET IT ON
Google Play

Question ID:- 72

The condition in which the child can not recognise properly the numbers :
(1) Dyspraxia

(2) Dyslexia

(3) Dysgraphia

(4) Dyscalculia

form 2on o Tersh HEmsTi i el - ifd Yg=E el 5 Ul €, 9% T90 Feadl §

(1) fegdfera

(2) Tewmefama

(3) Tewmftran

(4) feusegeten
Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73
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What is minimum percentage of disability to claim various benefits from Governments by
disabled ?

(1) 25%
(2) 35%
(3) 40%
(4) 50%

feein =aferrl grR1 wveR | fafas ygfasmd ur 3 o1 g1 % = forg f:eerd =1 =37 gfaed =0 & ?

(1) 25 %
(2) 35 %
(3) 40 %
(4) 50 %
Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74

What is ‘Megacephaly” with reference to mental health ?
(1) Small sized head

(2) Large sized head
(3) Cretinism
(4) Large and expanded eye balls

s W F He § Uit e ?

(1) <TgIERR = 8T

(2) TEe R =H fay

(3) shfefaeH

(4) = 3ir fomrfag 53 Mok
Options:-

=1, Option ID :- 293,
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= 2, Option ID :- 294,

= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

What is the purpose of “Manodarpan’, the programme recently launched by Ministry of
Education ?

(1) To provide psychological support to the students for strong mental health

(2) To promote sports education
(3) To promote value education
(4) To promote scientific temper

Tren e g1 B € H WMRY fRT T HEed @ @ e 2
(1) W& AEfEes W@ & foru fonfei o6 A 9eim yem &

(2) @ o 1 SgEn o

(3) Hed s T i e <
(4) SR iRl 1 SeET
Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
= 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76

What should be the quality of Mental Health Counsellor ?
(1) Empathy

) Apathy

) Sympathy
)

e T

Emotions

(
(
(

e T WERIRI H #4110 8 =16y 2
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Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 1, Option ID : -301

GET IT ON
Google Play

Question ID:- 77

Which one of the following factor is not responsible for mental disorder ?
(1) Hormonal Imbalances

(2) Malfunction of Brain

(3) Traditions and Customs

(4) Emotional disturbance

grfer fomr % fag, fF=ifed § 9 $9-9 FRF Sored! & £ 2

(1) =HEA FAEgeA
(2) HfEdsR 1 velHifa S T8
(3) Y SR g
(4) HeRTRH 3TIifd
Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78
‘Autism’ is a type of :
(1) Visual disability
(2) Sensory disability
(

)
3) Intellectual disability
)

(4) Physical disability

‘Fiffesn’ Friferd o 9 ferger TR 82
) =Nl feemmm

2) sfea HeEe fesma

) difgen fesimen

) YR fesAa
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Options:-

=1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

The following could be an example of Community Learning Centre ?
(1) Local Animal Shelter

(2) Cinema Hall
(3) Home
(4) Temple

Freifera & |, @ grgeifae Aferma % w1 SERT0 8 9l © 2

(1) E=T T

(2) farmEmE

3) T

(4 HfR
Options:-

=1, Option ID :- 313,
= 2, Option ID :- 314,
= 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

Normally what is the advantage of Educational counselling and guidance in schools ?
(1) Shows direction to job careers

(2) Boosting confidence to take healthy decisions

(3) Academic excellence

(4) Preparation for job interviews
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g faemerd | Jefores vyl of) griesiH @ 0 ey g 2
(1) 398 e Hier 3y fdw a3 &

(2) 3HE ey fof o % fou favem | ofg Edt €

(3) VEfUrE Spted

(4) = § Hafyd Heehr i Ja

Options:-

=1, Option ID :- 317,
= 2, Option ID :- 318,
= 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT25FEBSH2

Question ID:- 81

Who is responsible for smooth running of the school ?
(1) Discipline committee

) Students

) Teachers
)

[T ]

(
(
(

=

Principal

oo™ % gure derer & fau S SterE S g/e @ 2

(1) STgemEs Wit

(2) faened

(3) FAEATTH

(4) wr=w
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
=« 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82

Who should be the “crisis manager” in school ?
(1) Management

) Teachers

) Students

) Principal

S ]

(
(
(

fry
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e | W gy HiF B 9ifen ?

(1) 94T
(2) SIEATIH
(3) ferneft
(4) =
Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

GET IT ON
Google Play

Question ID:- 83

The positive organisational climate in school can be provided by :
(1) Effective school leader

(2) Dedicated staff
(3) Students
(4)

4 Parents

fommem § fAeifea § 9 1 SRIcIs e IRa9 S9ee Y Tehdl & 2

(1) 99T &he 1 Al

(2) HHYd HHER

(3) faenefimo

(4) H=e-foan
Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
=« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

What is the purpose of ‘School Development Plan” ?
(1) Enriches school culture

(2) Better publicity
(3) Attracting students
(4) To get more funds
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e fasrrg den’ <1 0 YA 82

(1) =99 fammea %1 @e=pfa it sAfus wgg a6 &
(2) WEE ¥ER
(3) Temnferl =1 sueRfva s
(4) i sifem Fafermi g =)
Options:-

=1, Option ID :- 333,
= 2, Option ID :- 334,
= 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

What is the purpose of Time-table in school ?
(1) To complete syllabus in time

To conduct examinations as per schedule

(ST e

(
(
(

)
) To rationalise teachers work
)

Ny

To stay organised in all aspects

oo™ o G5F—9RON =1 41 YA © 2
(1) H99 T UETRT JU FHE

(2) g % SATER Wansh 1 e
(3) ALY ok T ohl JfAaHTd T
(4) T HHEl | Hifed @A

Options:-

=1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340

Question ID:- 86

Why is Parent Teacher Association required in schools ?
(1) It can mobilise funds for school.

(2) It can take part in school programmes.

(3) PTA promotes co-operation.

(4)

Joint collaboration of parents and school would enhance learning and all round development.
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formemt | sifyvmas s 99 (HiEie) &t Tavadd 91 gt © 2
(1) 359 faguer ¥ fou i e st g 7

(2) 4% fommerd o FEwH | 9P o Hehdl ¢ |

(3) fuNIEE HEAF H HEART 1 FEET <l & |
(4)

2

4)  sfasrae (wia-fyan) iR fawmer™ & Hg#a TednT & werawy s oiR Tgfes fasm &1 agmE
freiTm |
Options:-

=1, Option ID :- 341,

= 2, Option ID :- 342,

= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

How to improve teaching-learning process in classroom ?

(1)  Well qualified teachers

(2) Discipline of students

(3) Non-threatening and supportive classroom environment
(4) Well ventilated classrooms

el | ST A W H Y YR @ ?
(1) Fara AATH

(2) To=nfel =1 sFomEA
(3) wen H swrfed oI weAn S
(4) UH SAETIR HEMT

Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88
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Which one of the following factors is important for learning in class ?
(1) Concentration

(2) Attention
(3) Motivation
(4) Interest

frifera § | 9 9 wre Fan H siform & fog meegef £ 2

(1) THem

(2) =

(3) fEm

(4) =
Options:-

=1, Option ID :- 349,

= 2, Option ID :- 350,
= 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

GET IT ON
Google Play

Question ID:- 89

Which one of the following quality of teacher will enhance learning ?
(1) Communicating ability

) Physical personality

) Inspiring ability

) Guiding ability

S ]

(
(
(

fry

SATE i g TuEE % wesawy afrg # gfg dnf 2

(1) ST Frra

(2) WHifF =Afade

(3)  ATHTOT A

(4) ©RIEEH =t FREA
Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
= 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90
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Which is the Competent Authority to decide qualification for teachers ?
(1) National Council for Teachers Education
Central Board of Secondary Education

L2 D

(
(
(

)
) University Grants Commission
) Central Institute of Educational Technology

Ny

AT ! ATl & Hag H 0 o & foaw gam wifessr/mibrew feifed § d e 2

(1) UL F=ATe e giee

(2) F=F meAthEs e 6

(3) Tavafoeme s @M

(4) = AeiforeR i HEE
Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Subject : PE_Q91-Q100_PRT25FEBSH2

Question ID:- 91

The curriculum should focus on :
(1)  All round development of child

(2) Content in text book
(3) Skills
(4) Knowledge

=l § e 8 9 frg W o e foen s =nfen ?
(1) @k =1 Hario fasme

2) UAYEF i fawg g

)

(

(3) e

(4) A
Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361
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Question ID:- 92

Which one of the following recommended opening of ‘Navodaya Vidyalayas’ in country ?
(1) NEP-1986

(2) NCE-2005
(3) POA-1992
(4) NEP-1968

freifea 9 9 forad <91 § ‘Adiea faeme’ died =1 fawif it 7% o6 ?
(1) w2 foen ifd, 1986

(2) UL UEFFA UG, 2005

(3) IR i THH, 1992

(4) g foen Hifd, 1968

2

Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
= 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

Which commission suggested three language formula in Education ?
(1) Hartog Commission

(2) Mudhalior Commission
(3) Kothari Commission
(4) Ramamurthy Committee

Trreifera | 9 form amdm | foen & &5 H By g3 1 gea foon a?

(1) SR Em
(2) Eferm S
(3) RIBE AE
(4) TEfd wfEfd
Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 3, Option ID : -371
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Question ID:- 94

As per RTE, Act 2009, Non-detention system is applicable up to class :

(1) V
(2) IX
(3) VIII
4) X

Torent =1 sifuepR SAfufem, 2009 % 4R A fedom fawen (Fig-fea yomelt) Freifra | 9 form wman

GETRCIY

(1) FH&uH

(2) e

(3) e

(4) wHEITH
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95

According to NEP 2020, the medium of instruction up to class V in schools should be :
(1) Any Foreign language

(2) Mothertongue/Regional language
(3) English
(4)

4 National language

Tty e +ifd, 2020 % A79R foeneri | e 5% e 1 91y 2 =@fe

(1) et facet v 4
(2) HGWIE/IIGTER e H
(3) ST H
(4) T
Options:-

=1, Option ID :- 377,
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= 2, Option ID :- 378,

= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

Which National Policy recommended use of grades in place of marks ?
(1) NPE-2020

(2) NEP-1968
(3) NEP-1986
(4) POA-1992

freifra 9 9 form wgia ifa § o & wF W U8 & 3190 #1 95fa & T 2
(1) w2 faren fifdq, 2020

(2) T Toren =ifd, 1968
(3) wedta faran <Aif, 1986
(4) U™ AE THE, 1992
Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

In which year the constitution was amended to include Education in “concurrent list’ ?

(1) 1976
(2) 1968
(3) 1986
(4) 1992

Tory ol wfae H Gehea o et o1 ‘wwedl’ =t | wnfhe feran mn ?

(1) 1976

(2) 1968
(3) 1986
(4) 1992
Options:-

=1, Option ID :- 385,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

= 2, Option ID :- 386,

= 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98

The vision of NEP-2020 is ;

(1) To transform India, a vibrant knowledge Society.

) Skill India

) Free and compulsory education to be the age of 14.
)

ST ]

(
(
(4) To make every citizen a Human Capital.

T2t faver ifa, 2020 =1 fasq & :

(1) Rd ! T 9 & Siidd 99 sneia wos § gfiafda s
(2) T AR

(3) 149 Fi ey 7 Fgesd o) sifqard foran

(4) UCHE ARG o1 AFE-IST ST

Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

What is Integrated learning in school education ?

(1) Process of making connections with new situations in life and cross learning with other
subjects.

(2) Learning all subjects together.
(3) Learning of curricular and co-curricular subjects together.
(4) Learning of craft are Arts.

foramerft foien 5 wahia sAferm =11 2 7

(1) St | 75 feafodi & Heiw wanfud s =i ufehan a1 o= fomal § orquey sAferms
(2) |t Fowl o1 U Wiy S

(3) U=l 991 He urgH=Al % fawEl w1 uw wey s

(4) Toreg i/ e =1 2l
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Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

‘Rousseau’ is associated with

(1) Idealism

(2) Naturalism

(3) Realism

(4) Pragmatism

oo Feifera o | foresy Weafda €7
(1) eTeeiER

(2) wHfER

(3) FAAEER

(4) SHARIREHAER
Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : HINDI_Q101-Q120_PRT25FEBSH2

Question ID:- 101
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Frefeafaa Ty st Sargds Ugeht SH OX ST UYH o1 Heteh 30T eI :

[yl 9ee T, qU g Ue T A oI 6T 9ed MU e e W Uaehi § uftafdd & )
FEl-FEl fotell § T arel Toihy S Wa- il i Agd-Teemed o off fomrd &4 €1 5 39 g i
ren S1eft ot 519 ol 1 o warm-g g e eandt off o frerd € wed € - ¢ S, 19 1, St s
Tt " ateft oft 7 e H T € agt R W veen R ol €, wefr uvEre o g et § ad
TS SNMETE od B | S, Sl T gFn TSUe WK § 3R Ma-Ser % dael I W ot GHl-
G S €1 S off 37 -k R % Are-ES 1T TR ¥ Heres e o fa-qa €1 3 W e
FER -5 I T - 1 TRATNSA IR FHeeTa = b %l Jehe Hd ¢ |

Freferfea | & e | @ 78 gen ?
(1) e
2 T

(3) Tea-Haw
(4) e

Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

Freafafaa ey & Srgds tget 38 W MUTRG U9F &hi H2ieh St alfa

QeI 98e T, qU T UE T A oI 6T ded MU e e W UEehl § uftafdd & )
FE-FEl farstell | Fo 8ol Terhy SR Sa-srfE 1 Hed-Tamred ot +ff foams 20 81 w3\ ma #
e et oft S o=l B 1 @ g g qaE 1 ft oft < e € wed € - ¢ S, T T, Sesh, s
Tttt a1t off A9 e 1 S € agl R I veen ol €, wiefrl e S g ol § a
T2 NMETE <o B | S, JTel T gah TSe WK § 3R Ma-Ser %t dhel I W ot GHi-
GATE STt & 1 @3eft off 39 - Uk R % ove-Ag S e § wenedd e o - ) A F e
TER -GN 7 T -1 F1 aRgmeiier iR sercas ¥ TRl 1 T #:3d |

e H fﬂiﬂﬁ H G ©
(1) -

(2) <t

(3) TaEd

(4) e

Options:-
=1, Option ID :- 405,

= 2, Option ID :- 406,
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= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

Freafafaa ey o Srgds tget S8 WX UG U9F &1 H2ish St alfa

QeI 9ge T, qU g UE T A 3iY URd 9ed MU HAHe e W Uaehl § uftafdd & )
FE-FEl fastell | e 8ol Torhy SR G- w1 Hed-Tearesd ot off feams 20 81 w3\ Wy #;
e et oft S ol B @ g g g endt oft < e € wed € - ¢ S, T T, Sesh, s
Tttt areft off A e H S € agl R T veen o ol €, wiefrl e i g ol § a
T2 NMETE <o B | S, JTel T gEn TSe WK § 3R Ma-Ser % dael I W ot GHi-
GATE STt & 1 @3eft off 39 - Uk R % ove-Ag S e § wenedd e o - ) A F e
TER -GN 7 T -1 F1 aRgmeiier iR sercas ¥ TRl 1 T #:3d |

gy T IX ToeT FEl T ol © 7
(1) =¥

(2) @di W

(3) TE-ERH

4 FH W
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104
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Frefeafaa Ty st Sargds Ugeht SH OX ST UYH o1 Heteh 30T eI :

[yl 9ee T, qU g Ue T A oI 6T 9ed MU e e W Uaehi § uftafdd & )
FEl-FEl fotell § T arel Toihy S Wa- il i Agd-Teemed o off fomrd &4 €1 5 39 g i
ren S1eft ot 519 ol 1 o warm-g g e eandt off o frerd € wed € - ¢ S, 19 1, St s
Tt " ateft oft 7 e H T € agt R W veen R ol €, wefr uvEre o g et § ad
TS SNMETE od B | S, Sl T gFn TSUe WK § 3R Ma-Ser % dael I W ot GHl-
G S €1 S off 37 -k R % Are-ES 1T TR ¥ Heres e o fa-qa €1 3 W e
FER -5 I T - 1 TRATNSA IR FHeeTa = b %l Jehe Hd ¢ |
= F A FH E?

(1) wE-=g

(2) TR

(3) el faedt | fod gu
(4) form ferd-gd

Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

Frafafea ey &1 STy UgeRt 30 UT SMATRA U9T &1 Weteh 3u alfw :

[l Fea T, 0 FT T2 TN IE R T F8 M| IAF Fed W Y] | giafad & T
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Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

GET IT ON
Google Play

Question ID:- 106

(1) =m
(2) ¥4
(3) fokd
(4) I,
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107

(1) FHHYRE FHE H

(2) CIEY HHE

(3) @gHifE EE

(4) To1 w9® =
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,
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= 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

Frfafad weg gl § qem-agya &1 35T I §

(1) =M - 0
(2) & - s
(3) ™ - 2\
(4)  SFIEA - S
Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

Treferfaa facmmell weg i H o764 @
(1) itfem - @

(2) @9 - i

(3) amfE® - Hifcaew

(4) g - s

Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

fordToT § G 9rea] H S7Hd €
(1) 9% - T

(2) ==l -a9gwmd

(3) TRH - TRAES
(4)

-
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Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

GET IT ON
Google Play

Question ID:- 111

ot =ifer aren vreg 7=l © :
(1) A

(2) YR

(3) WerH

(4) AR

Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

‘TEw I’ gEreR W Tels AfayE ©

(1) % HI daE T HA

(2) =AY THA ARG LA

(3) =AY H ZE-IEL gHA

(4) I FH A FEA
Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

‘wen’ frefaieas § O feg = S T g ?

(1) =@M = feaE
(2) = A T
(3) T =T gfen FE
(4) TR
Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114

‘oroy 5t w1 foRy faum Rt WA 2

(1) =ert
(2) HEWY
(3)
(4)  ehfad
Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115

“Tod 1 O U8 o AEE §

(1) Tmudl fEg feet
(2) ®BREWE T=[
(3) T =g @
(4) ¥R
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457
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Question ID:- 116

‘god o1==1 U8’ e = % AR |

(1) o= fosrm

(2) WL

(3) THuRl THE feee

(4) . YRAEH
Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

‘Fer T Ed H e = R g E R 2

(1) fEfm -1
(2) foafzm -2
(3) fafzm -3
(4) fEfem -4
Options:-

=1, Option ID :- 465,
= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

Tfafad § & 3a-%8 T Jel SHaL § -
(1) @t
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Options:-
=1, Option ID :- 469,

= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

“Of} forara’ T & STUR WX SAEU TR o 9 dew o 9 e ?

(1) =E-H A

(2) =gd |l forae

(3) ®&d ¥ faet

(4) ==l i ferarE
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

"STE ST S A A Hfadr & Wi §
TEE

()

(2) A

(3) FHoR TREW
(4) HreTerer fgae
Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Subject : ENGLISH_Q121-Q140_PRT25FEBSH2

Question ID:- 121
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Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Court and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing,.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time,

The writer’s mother dressed her youngest son as a girl because
(1)  the child had girlish looks.

(2) it satisfied her desire for a daughter.

(3) she had plenty of girls” dresses at home.

(.

4)  she had five sons.

Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
= 3, Option ID :- 483,
= 4, Option ID :- 484,

Answer Given:- 2, Option ID : -482

Question ID:- 122
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Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Court and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing,.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time,

The father did not care much about his wife’s desire as he was/had
(1) tall and strong,

(2) aloud voice.

(3) a voracious reader.

(.

4)  too busy in his work as an advocate.

Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123
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Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Court and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

Study the following statements :
(A) The father had a poor handwriting.
(B) His typist must have been working with him for a long time.

)
1)  (A) is right and (B) is wrong,.
2)

(B) is right and (A) is wrong.

— — — —

3) Both (A) and (B) are right.
4) Both (A) and (B) are wrong,.
Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124
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Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Court and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

Which of the following statements is NOT True ?

(1)  The father had strict food habits.

(2) He firmly believed in punctuality.

(3) Every two-three years he would hire a new cook.
(4) He was very particular about payments.

Options:-

=1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125
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Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers ﬂowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Court and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

Choose the word which means the same as :

VORACIOUS

(1) Gluttonous

(2) Casual

(3) Stolid

(4) Reluctant
Options:-

=1, Option ID :- 497,

s 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

Choose the word which is opposite in meaning to :

ABHOR

(I) Rejoice

(2) Defame

(3) Choose

(4) Love
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
= 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504
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Question ID:- 127

Choose the word which is opposite in meaning to :

JUVENILE
(1) Lifeless
(2) Huge
(3) Adult
(4) Big
Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128

Identify the part of the sentence that has an error in it :

He came inthe class without the teacher’s permission.
(@) (b) (©) (d)
() (a)
(2) (b)
(3 (©
(4) (&)
Options:-

=1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

Question ID:- 129

Identify the part of the sentence that has an error in it :
[ have been worrying aboutyou for the last one week.

(a) (b) (c) (d)
(1) ()
(2) (b
(3 (©
(4)  (d)

Options:-
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=1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Identify the tense form of the following sentence :
Meena has come back from London :
(1) Simple Present

(2) Present Perfect

(3) Present Continuous

(4) Present Perfect Continuous
Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,

= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the tense form of the following sentence :
The city was shaken by an earthquake :

(1) Simple past

(2) Past Perfect

(3) Past Continuous

(4) Past Perfect Continuous

Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 1, Option ID : -521

Question ID:- 132
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Choose the option in which the following words/phrases have been correctly rearranged
to form correct sentences :

(A) child psychology
(B) a teacher one

(C) before aspiring to be
(D) has to understand

(1) (© (B) (D) (A)

(2)  (B) (©) (A) (D)

(3) (D) (B) (O) (A)

(4) (A)(© (B) (D)
Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

Choose the option in which the following words/phrases have been correctly rearranged
to form correct sentences :

(A) become a sanyasi
(B) rich clothes and
(C) away all his

(D) he has cast

(1) (A) (B) (©) (D)

(2) (D) (© (B) (A)

(3) (© (D) (B)(A)

(4) (D) (B) (O) (A)
Options:-

=1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134
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Choose the option in which VOICE in the following sentence has been correctly changed.
I have completed my job now .

(1) Now my job has been completed.

2) My job has been completed by me now.

(2)
(3) My job has been completed by me then.
(4)

4) My job had been completed then by me.

Options:-

=1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the option in which VOICE in the following sentence has been correctly changed.
He is winning the match :

(1) The match is won by him.

(2) The match is winning by him.
(3) The match is being won by him.
(4)

4 The match has been won by him.

Options:-
=1, Option ID :- 537,
= 2, Option ID :- 538,

= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

Fill in the blank in the following sentence with suitable preposition.

In case of danger, you are advised to stand "

(1) off
(2) of
(3) wp
(4) in

Options:-

=1, Option ID :- 541,
= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541
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Question ID:- 137

Fill in the blank in the following sentence with suitable preposition.

Ram and Shyam have taken each other.
(1) wup
(2) to
(3) for
(4) off
Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

Choose the option in which Narration in the given sentence has been correctly changed.
Karan says to me, “Bring me a glass of water, please."

(1) Karan orders me to bring him a glass of water.

(2) Karan asks me to bring him a glass of water please.

(3) Karan requests me to bring him a glass of water.
(4)

4 Karan tells me to bring him a glass of water.

Options:-

=1, Option ID :- 549,
= 2, Option ID :- 550,
= 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Choose the word similar in meaning to the ones given below :

Antipathy

(1) Medicine

(2) Distress

(3) [lusion

(4)  Dislike
Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,
= 4, Option ID :- 556,
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Answer Given:- 4, Option ID : -556

Question ID:- 140

Choose the word similar in meaning to the ones given below :
Earnest

(1) Serious

(2) Lonely

(3) Odd

(4) Grateful

Options:-

=1, Option ID :- 557,
= 2, Option ID :- 558,
= 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 4, Option ID : -560

Subject : MATHS_Q141-Q160_PRT25FEBSH2
Question ID:- 141

The smallest 6 digit number which is completely divisible by 21 is :

(1) 100023
(2) 100001
(3) 100008
(4) 100002

6 el =1 Bl | Bl FeA S 21 § yofon fasfem B €, @

(1) 100023
(2) 100001
(3) 100008
(4) 100002
Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142
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The predecessor of the smallest six digit number is :

(1) 100000

(2) 999999

(3) 999998

(4) 99999

6 i1 T B B B T F qHaA &
(1) 100000

(2) 999999

(3) 999998

(4) 99999

Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143

A publisher published 500000 copies of a book and sold 475939 copies. 4379 copies got damaged.
The number of copies left with publisher is :

(1) 28440
(2) 20692
(3) 20982
(4) 19682

T TR 500000 TEI BTIAI & 91 475939 Tk o9 <l &, 4379 Tk TIE B STl & | Wehrerh o T

3 R W e d

(1) 28440

(2) 20692

(3) 20982

(4) 19682
Options:-

=1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572
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Question ID:- 144

In Roman Numerals, the symbols I, X, C and M can be repeated successively only :
(1) One time

)

)

)  Two times

) Three times

) Any number of times

5]

(
(
(4

I ggfa | fee L X, C 2R M %1 19 @ ar Shae foran =1 gaar B
(1) ThaX

(2) FaAR

(3) dF ®R

(4) Terat off R

Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

When a number is divided by itself, the result is :

(1) 0

(2) 1

3 -1

(4) The number itself

Tt T &) SH = g 9N HE W YT Bl ©

(1) 0

(2) 1

(3) -1

(4) =@ HE
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,
= 4, Option ID :- 580,
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Answer Given:- 2, Option ID : -578

Question ID:- 146

15 ml of medicine in litres is expressed as :
(1) 1.5 litres

(2)  0.15 litre
(3)  0.015 litre
(4)  0.105 litre

15 ml €aE &ied o, 39 YR fomd o gl @

(1) 1.5 @
(2) 0.15 @
(3)  0.015 @feX
(4) 0.105 &L
Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

How many triangles are there in the given figure ?

(1) 12
(2) 18
(3) 20
(4) 24
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fea ) fom H o fays €2
(1) 12
(2) 18
(3) 20
(4) 24
Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587

Question ID:- 148

The number of prime numbers having two digits in which the digits are also prime is :

(1) 4
@ 7
(3) 8
(4) 10

Q) S| arelt wwe" Hest @1 ge, ek siw off s ) §

(1) 4
(2) 7
(3) 8
(4 10
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
= 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149
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25 1

The decimal representation of - is:
(1) 1.04

(2) 0.104

(3) 104

4 1.4

26

— 1 S B9 §
25

(1) 1.04

(2) 0.104

(3) 10.4

(4 1.4
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
= 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

GET IT ON
Google Play

Question ID:- 150

The breadth of a river may be :

(1) 50km

(2) 500 m

(3) 50 cm

(4) 500 mm

Tk TEl 1 SR B Hebdl € :
(1) 50 km

(2) 500 m

(3) 50 cm

(4) 500 mm
Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
= 3, Option ID :- 599,
= 4, Option ID :- 600,
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Answer Given:- 1, Option ID : -597

247

GET IT ON
Google Play

(D)
(2)
(3)
(4)

Question ID:- 151

11.5 em
23 cm
14 cm
7 cm

(1) 115 em
(2) 23 cm
(3) 14 cm
(4 7cm
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

If the perimeter of a rectangle is 32 cm and its length is 9 cm, then the breadth of the rectangle is :

Ife U 3T 1 URHEY 32 cm § 991 3] @9 9 cm 8, 1 3T I AISE ©

Question ID:- 152

6 cm
>
T
12 cm
1)
6 cm
<12 con— 1
12 cm
v
—
6 cm
(1) 72 cm?
(2) 180 cm?2
(3) 324 cm?2
(4) 400 cm?

The area enclosed by the adjacent figure is :

Iﬁcm
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6 cm
—
()
12 cm
l
6 cm I I 6 cm
<12 cm— 1\
12 ecm
)
—>
6cm
RIS CAT R R TR s e
(1) 72 cm?2
(2) 180 cm?
(3) 324 cm?
(4) 400 cm?
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
= 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

The length of a field is 600 m. If the breadth is 500 m, the area of rectangular field
in hectares) is :

1) 300
2) 30
3 3

(
(
(2)
(
(

4 03
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T T i s 600 m € | (e 3Tt 9ISk 500 m &, d JAFdEHR @d &1 8% (28R ) &

(1) 300
(2) 30
(3) 3
(4 0.3

Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

A shopkeeper sold a watch for T 280 and gained profit of 12%. The cost price of the watch is :

(1) T 268
2) T 256
(3) T 250
(4) T 240

T GHMER 1 U TSt 2280 H o= iR 12% @ il foaam | ol o1 o6 e &:

(1) ¥ 268
(2) T 256
(3) T 250
(4) T 240
Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155
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Length and breadth of a cuboid are 15 cm and 9 cm respectively. If the volume of the cuboid is
675 cm?, the height of the cuboid is :

(1) 5am
(2) 8cm
(3) 10cm
(4 12cm

T TA1Y ] AR T ISR FAY: 15 cm 2R 9 cm ® | 3fE T 1 7604 675 cm? &, T 51 T

SEE R :

(1) 5cm
(2) 8 aom
(3) 10 cm
(4) 12 cm
Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
= 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

Question ID:- 156

98.6°F is represented in centigrade as : [Given i = Ll 32)

100 180
(1) 35°C
(2) 37°C
(3) 39°C
(4) 40°C

98.6°F %1 Helire # wefdid =% ¥ : [T@T B F_E'zJ

100 180
(1) 35°C
(2) 37°C
(3) 39°C
(4) 40°C
Options:-

=1, Option ID :- 621,

= 2, Option ID :- 622,
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= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157

The surface area of a cube is 1536 cm?. Its volume is :
(1) 256 cm?

(2) 16 cm?
(3) 48 cm’
(4) 4096 cm3

e B 1 HYY IS &A% 1536 cm? | 3H T I AT © ¢

(1) 256 cm?
(2) 16 cm?
(3) 48 cm?
(4) 4096 cm?
Options:-

=1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 4, Option ID : -628

Question ID:- 158

1+2+3+ ----- + 50 equals
(1) 555

(2) 1000

(3) 1275

(4) 1500

iy, R, SR +50 ST ¥
(1) 555

(2) 1000

(3) 1275

(4) 1500

Options:-

=1, Option ID :- 629,
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= 2, Option ID :- 630,
= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

GET IT ON
Google Play

Question ID:- 159

On simplification :

1-243—-44+5—6----- +101, we get :
(1) 101

(2) 81

(3) 60

(4) 51

1=B4H=0nE=8F s=mns +101 1 WA FH T, W A € :
(1) 101

@) 81

(3) 60

(4) 51

Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160
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Which among the following can not form a cube ?
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7 o 9 frad o= &1 991 571 Oehar § 2
(1)

(2)

(3)

(4)
Options:-

=1, Option ID :- 637,

= 2, Option ID :- 638,

= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637
Subject : EVS_Q161-Q180_PRT25FEBSH2
Question ID:- 161
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Which synthetic fibre has been discussed about in the following paragraph ?

In 1939, when this fibre came, its endearing qualities created sensation in public. Women'’s stockings
made from this new fibre were in great demand. But unfortunately, most of its production had to
be diverted in making parachute due to Second World war.

(1) Rayon
(2) Nylon

(3) Polyester
(4)  Acrylic

Frefafaa e 5 frg gyt W & =) § 5 e @ g ?
& 1939 § F X §HA AT i SHek Higeh 0N 7 ST H HAEAT Sevl L fed 1 39 T W H I wigensdi
o HISiT bt R A off | TR g F Tt fovasg o =erd 50 W o 3o & siferRier vr TR 39 €y

| ¥ foran s )

(1) @

(2) AREHA

(3) HifeTuEt

(4) Ufehfern
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R), Choose the correct answer with the help of codes given below :

Assertion (A) : Certain bacteria convert some part of nitrogenous compounds to nitrogen gas
which goes back into the atmosphere.

Reason (R) : As a result, the percentage of nitrogen in the atmosphere remains more or less
constant.

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4)  (A)is false but (R) is true.
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= <t Trer T T ¥ 1w i e1freRe (A) SR TR F RROT (R) FE1 TR | T Fe i e

H & I T FL
fuere (A) : T faftre Siam) s difent o1 TE2em 9 oitafda w2 3q € s agHesa § =t
ST |

HEOUT(R) :  ROTHA: SgHEA § AESSH i T @ fer T #
(1) (A) 3 (R) S W& &, 3R (R), (A) I TE S T T

(2) (A) 3T (R) S T €, 1R (R), (A) I Hel A0 &l L |
(3) (A) W&l T WY (R) T |

(4) (A) TeTd €, 9 (R) HE )

Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163
Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Many diseases like Cholera, Tuberculosis, Chickenpox and Hepatitis can be cured
by vaccine.

Reason (R) : Polio drop which is given to children is actually a vaccine.
(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

=1 <t Feraer faw T E 1w F SfireRe (A) SR TR 1 RRUT (R) FE TR | A U FE w5 e
H R IR A FIH B

AR (A) @ T, &7, == 91 euersfed SHl 3Teh SreIfE sl Seda (o) gRT AT ST Hefell ¢ |
THIOT (R) : Difer Y st o1 fean < aren areqa | T 99die (S 81

(1) (A) 3R (R) S W&l €, 311 (R), (A) 1 TEl =meq & 7

(2) (A) ¥R (R) 3 T8 B, T (R), (A) I 92 =0 ol a2

(3) (A) TEl & T (R) e €

(4) (A) T B, W (R) HE €

1
2
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Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164

Given below are two statements, one labelled Assertion (A) and the other labelled as Reason(R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Humans get their food both from plants as well as animals,
Reason (R) :  Animals including humans cannot make their own food.
Code :

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true and (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

21 &1 made fag T E | U Fi 3IfeReE (A) 2R g # RWT (R) e T | R T e w5 werm
| HE I H T B

ATURY (A) : TS SAYAT 6isT el S3eren Siqsii =1 2H1 9 & W o 2
FROT(R) : O Gfed 9 5= 15 o4 § o5med 21

%

(1) (A) 3% (R) SFi W& 2, 3R (R), (A) 1 HE AT T 8|

(2) (A) 2R (R) 3 H& €, 3R (R), (A) FI HE = T HA B

(3) (A) 9El 8 W (R) TTed 2 |

(4) (A) T4 €, WA (R) T2 B

Options:-

=1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165
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Choose the correct answer with the help of given codes.

Compost is considered better than fertilizers because :

(A) Compost improves the texture of soil.

(B) Compost increases the number of friendly micro-organisms.

(C) Compost makes the soil hard due to which gaseous exchange becomes easy.
(

D) Compost reduces the water retention capacity of soil which helps in the growth of plants like
wheat.

Code'

(1) Only (A) and (D)
(2) Only (B) and (D)
(3) Only (C) and (D)
(4) Only (A) and (B)

e HI FEIA H HaEl I H T F

Sifees @TE St sTien sfues sTest A S § wifE

(A) e @’ § fazet #1767 ger S 2 |

(B) ifaw @ F fas Sarupeii #t g § gfg &1 s &

(Q) Sifeer @z ¥ fiedl wwe 8 ot € fowes wr 1y fafra wam 9§ a el

(D) Siferp &g § el 1 Sei- 4R &d | & Bdl ¢ fSTEd 715 S el %1 S § Heg fHerd €

(1) = (A) 3R (D)
(2) = (B) #R (D)
(3) e (C) 3R (D)
(4) e (A) R (B)

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Question ID:- 166
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Below are few features of spores. Choose the correct answer with the help of given codes :

GET IT ON
Google Play

(A) They are light.

(B) They can cover long distance.

(C) They are sexually reproductive bodies.
Codes :

(1) (A) & (B)

(2)  (B) & (©)

(3) (A& ()

(4) Only (C)

T el @ e fasmand € wE €1 % w Herr ¥ 9El Sal H 991 B
(A) ATEHAALI

(B) & et gl T S HFA T |

(C) & fiTeh S 37 B €|

q;n?:
(1) (A) 3R (B)
(2 (B) 3R (O
3 (A)R(©Q)
(4) e (C)
Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,

= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661

Question ID:- 167

Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Sandy soil is dry.

Reason (R) : The sand particles of sandy soil are very small.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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9 & aade fag T E | U 1 3IfieReE (A) 2R g I RWOT (R) e T | fEu T e w5 wer
H & I T FL

feRem (A) :  9cE U Y Bl B

®NOT(R) : o oI 6 U BRI €|

(1) (A) @R (R) S T&t & IR (R), (A) i T =men T 2
(2) (A) &R (R) S T& €, 9 (R), (A) T TE I T FHI 2 |
(3) (A) W& § W (R) T 2

(4) (A) 74 B, 9 (R) HEI 2

2

Options:-

=1, Option ID :- 665,
= 2, Option ID :- 666,
= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Below are two statements. Choose the correct answer from the given options :
Statement (I) : Moving air is called wind.

Statement (II) : Increase in the speed of wind leads to increased air pressure.
(1) Statement (I) and (II) both are true.

(2) Statement (I) and (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.

=1 1 e feu T 81 fou g fasredi § & W 3aR %1 59 |
H (1) : Rie 91 9o Feawn ¢ |

WA (II) : Y97 & 97 Fe | g 1 I 9 Sl ¢ |

(1) <ReM (1) 3R (11) IH1 B& €1

(2) e (1) 31 (11) SHi e © |

(3) heM (1) HEl B, T R (1) Td B |

(4) R (1) Tod 2, ILg HeM (II) T 1

Options:-
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=1, Option ID :- 669,
= 2, Option ID :- 670,
= 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

GET IT ON
Google Play

Question ID:- 169

Choose the correct sequence :
(1) Ingestion — absorption — digestion — assimilation — egestion

Ingestion — digestion — assimilation — absorption — egestion

[T ]

(
(
(

)
) Ingestion — absorption — assimilation — digestion — egestion
)

4) Ingestion — digestion — absorption — assimilation — egestion

e FH T -

(1) FAUBT — STFWTU — =T — T — A
(2) SAWET — TRA — FFIRT — TN — TR
(3) SHAUBY — SFEYY — RO — YA — FshrEA
(4) TR — T — HIUUU — SR — R
Options:-

=1, Option ID :- 673,

= 2, Option ID :- 674,

= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Choose the odd one out :

(1) Cactus

(2) Algae

(3) Cuscuta

(4)  Pitcher Plant
Terer =

(1) FaFY / FOTEAT
(2) dEmE

(3) STEd

(4) =uil (fo=r urey)

Options:-
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=1, Option ID :- 677,

= 2, Option ID :- 678,
= 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

Following are the statements related to the houses constructed in the Cold Desert area of Leh.
Choose the correct answer with the help of given codes :

(A) Their walls are made up of stones.
(B) Their floors are made up of wood.
(C) Their roofs are made up of stones.
(D) They only have ground floors.

Codes :

(1)  (A) and (B)
() (B)and (O)
(3) (C) and (D)
(4) (A) and (D)

Tmforfad wed 38 wewe 9 @8 1 o & FE 9 Hatud €)1 fSu gu %2 1 geddl 9 w9l I3 & =99

(A) T SR Terd A S
(B) ST Rl Thel | ST ST ¥
(C) STl B Yool § oI el € |
(D) 8 A Y- &I T

% :
(1) (A) 3R (B)
(2) (B) &R (O
(3) (O ¥R (D)
(4) (A) ¥R (D)
Options:-

=1, Option ID :- 681,
= 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172
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In December 1902, Ronald Ross got the highest award in the field of medicine, the “Nobel Prize’.
His discovery was related to which disease ?

(1) Chicken Pox

(2) Plague
(3) Malaria
(4) Cholera

THfee 9 =1 fogar, 1902 # faferan & &3 ¥ 921 R ' Faw [wr foean) 7= g fog &b 9

Haferd off ?
() =%
(2)
(3) Tt
(4
Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

You are a Lieutenant Commander and also a doctor in the Indian Navy, and along with this, you
are also given an opportunity to lead a parade on a naval ship. How many commands will you
shoutout in the complete parade ? '

(1) 29
2) 31
(3) 36
(4) 39
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Y SR FHISY, § SN YR A% H efe off §, 9o 21 ATl A6 % HYEl Sere W qh We &
FHHT HTET 3T ekl el ¥ 1 379 WE Tt gl 1 IU we § foha fdw & 2

(1) 29
(2) 31
(3) 36
(4) 39

Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174
Which of the following work can lead to spoiling of crop of onion ?
(1) By giving minimum urea in the crop of onion.
By doing average irrigation in the field of onion.

(2)
(3) By cleaning the weeds grown in the field of onion.
(4)

4) By leaving the ready crop of onion in the ground.

FH-G FE FH W S F FEA TS & Sl 2

(1) oIS % FEA § A8 I &5 9

(2) S ! WHA i iEd fH=E & W

(3) TS i HEA H I TIYFAR Hi HHEE FH W

(4) THT F TIR @S H FEA B FHA F 5 G T e W

2

Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
= 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175
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In some parts of Kerala, “Vallam’ is used to cross small rivers and drains. What kind of object a
"Vallam’ is ?

ity

) A bamboo bridge.

2) A bridge made of rope.

3) A small boat made of wood.

4) A bridge made up of trunk of a special kind of tree.

e —

T & PP EI H SISt AfGHl 1 el w1 IR A o A S 1 WEE 2l § | 98 aeern | R W

T 7

(1) = H I

(2) TEH H & g

(3) TSI I A B AE
(

4) oo YR & U5 & @9 9 91 g

Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 3, Option ID : -699

Question ID:- 176

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) , Choose the correct answer with the help of codes given below :

Assertion (A) : The feathers of birds help them to fly and keep them warm too.

Reason (R) : From time to time birds lose their old feathers and new ones grow in their place.
Codes :

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

2) (A) and (R) both are true but (R) is not the correct explanation of (A).

3)  (A) is true but (R) is false.

(
(
(4)  (A) is false but (R) is true.
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9 2 aade fag T E | U 1 3ifieReE (A) 2R g I REOT (R) e T | R T e w5 werm
H HeEl 3R H T B

ATUFHA (A) : Il & U@ 37! Ig H Heg I © SR Ik I H1 T off T )
HEOT(R) :  TOE-I9g R uferdl & qUH UE we o € of U uE o §i €
% :

(1) (A) &l (R) S W& 2, 31 (R), (A) i T =AM & 2 |

(2) (A) 3R (R) B W& E, 3 (R), (A) T TE AR TEl I T |

(3) (A) W&l 8, Tg (R) T B |

(4) (A) 7T ¥, W (R) W E

Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Below are few statements about forest. Choose the correct answer with the help of given
options :

(A) Forest floor is usually dark in colour.

B) The decaying matter on the forest floor is usually moist and cool.

C) Nothing goes waste in a forest.

D) Forests are quite dark.

) (A) (B) (O
2)  (B). (©), (D)
3 (A), ©) D)
4 (A) (B), (D)

i ST 9 98 9 %9 feu u €| fou v fomredi o1 HeEd § Hal I 1 9hH |
(A) ShTe =i e e 1 S R
B) STt st 4 % & e SR T4 F 3¢ € ¢ |

(
(C) wiel § o off =aef & el |
(D) SITE ST STUFRYE B

(A), (B ©
2 (). ©), D)
(
(

A), (©), (D)
A), (B), (D)
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Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,
= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178

Why are forests called green lungs of the Earth ?
(1) They release oxygen through the process of photosynthesis.
(2) They remove all the carbon-di-oxide from the atmosphere.

(3) They provide more and more oxygen to overcome the oxygen and carbon-di-oxide balance
existent on the Earth.

(4) They fix the nitrogen of air directly.

SiTEl %1 YT o 8L RS W1 el STl & 7

(1) o U1 Y0 gRT SEeisH e &t €1

(2) O SAERY § R HEA SIZHIREE T S § |

(3) O wXCl U HISE ST X e SEATFISS h e TR e HTA o ToTg sAe § TIRT ST
qd 1

(4) o HY gan % AersT i fefE w5 )

Options:-

=1, Option ID :- 709,
= 2, Option ID :- 710,
= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711
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(1)
(2)
(3)
(4)
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Question ID:- 179

Narayan’s childhood was spent in the Sabarmati Ashram. By which name did he write a book
where he mentions that “Guests of the Ashram are made to learn cleaning of toilets ?”.

Message to Children

Gandhi Vichar dohan

Sant - Charan - Raj Sevita, Sahaj
Gandhi Ganga

ARPIOT T ST=T TS o HEEdt S IS a1 S gR Tohe A & e ferdt e ® ol o feran
2 for ' amiem W o1 oot HeuHl B U i 9WE & sk e s on )’

(1) foenfel=i =6 gem
(2) it faar e
(3) HA-TX-TS Wiedi, ¥
(4) R A
Options:-

=1, Option ID :- 713,
= 2, Option ID :- 714,
= 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

GET IT ON
Google Play

(A)
(B)
©
(D)

1)

B

S A A
= I
e S’

Question ID:- 180

Which of the following are forest products ?

Gum
Plywood
Sealing wax
Kerosene



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Frefafad 8
(A) Tiig

H HA-H & 39K §?

D) &g

(D (A) (B), (O
(2 (B) (©). (D)
(3)  (A) (©) D)
(4)  (A) (B), (D)
Options:-
=1, Option ID :- 717,

= 2, Option ID :- 718,
= 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717

GET IT ON
Google Play
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Post : Primary Teacher

Qno Question Description

key

001 General English

002 General English

003 General English

004 General English

005 General English

006 General English

007 General English

008 General English

009 General English

010 General English

011 General Hindi

012 General Hindi

013 General Hindi

014 General Hindi

015 General Hindi

016 General Hindi

017 General Hindi

018 General Hindi

019 General Hindi

020 General Hindi

021 General Awareness& Current Affairs
022 General Awareness& Current Affairs
023 General Awareness& Current Affairs
024 General Awareness& Current Affairs
025 General Awareness& Current Affairs
026 General Awareness& Current Affairs
027 General Awareness& Current Affairs
028 General Awareness& Current Affairs
029 General Awareness& Current Affairs
030 General Awareness& Current Affairs
031 Reasoning Ability

032 Reasoning Ability

033 Reasoning Ability

034 Reasoning Ability

035 Reasoning Ability

036 Computer Literacy

037 Computer Literacy

038 Computer Literacy

039 Computer Literacy

040 Computer Literacy

041 Understanding the Learner

042 Understanding the Learner

043 Understanding the Learner

044 Understanding the Learner

045 Understanding the Learner

046 Understanding the Learner

047 Understanding the Learner

048 Understanding the Learner

049 Understanding the Learner

050 Understanding the Learner

051 Understanding the Learner

AR, OB aDNBADNOOWOONDNMPARAEBAMNMNW=_2A PR 22 aaWOWONMNMPBMBADMNMNDMNN_2OOPRADMNMNMODNPAEA =2 ODMNMNO=_2APRODMN_ORA_~A

052 Understanding the Learner

053 Understanding the Learner

054 Understanding the Learner

055 Understanding the Learner

056 Understanding Teaching Learning
057 Understanding Teaching Learning
058 Understanding Teaching Learning
059 Understanding Teaching Learning
060 Understanding Teaching Learning
061 Understanding Teaching Learning
062 Understanding Teaching Learning
063 Understanding Teaching Learning
064 Understanding Teaching Learning
065 Understanding Teaching Learning
066 Understanding Teaching Learning
067 Understanding Teaching Learning
068 Understanding Teaching Learning
069 Understanding Teaching Learning
070 Understanding Teaching Learning

071 Creating Conducive Learning Env. Etc.
072 Creating Conducive Learing Env. Etc.
073 Creating Conducive Learning Env. Etc.
074 Creating Conducive Learning Env. Etc.
075 Creating Conducive Learning Env. Etc.
076 Creating Conducive Learning Env. Etc.
077 Creating Conducive Learning Env. Etc.
078 Creating Conducive Learning Env. Etc.
079 Creating Conducive Learning Env. Etc.
080 Creating Conducive Learning Env. Etc.

081 School Organization and Leadership
082 School Organization and Leadership
083 School Organization and Leadership
084 School Organization and Leadership
085 School Organization and Leadership
086 School Organization and Leadership
087 School Organization and Leadership
088 School Organization and Leadership
089 School Organization and Leadership
090 School Organization and Leadership
091 Perspectives in Education

092 Perspectives in Education

093 Perspectives in Education

094 Perspectives in Education

095 Perspectives in Education

096 Perspectives in Education

097 Perspectives in Education

098 Perspectives in Education

099 Perspectives in Education

100 Perspectives in Education

101 HINDI

102 HINDI

W AN =2 2 a2 WONWW=_"2 a2 a2 Wwwdbhdh=a2 2D BADNN_20W0WOO=2=2DNDNORAEA_2NNAEOODMNMMNMPA2BAEADNOOMNMNDMDMNMN=_2DMNMNO-ADN

103 HINDI
104 HINDI
105 HINDI
106 HINDI
107 HINDI
108 HINDI
109 HINDI
110 HINDI
111 HINDI
112 HINDI
113 HINDI
114 HINDI
115 HINDI
116 HINDI
117 HINDI
118 HINDI
119 HINDI
120 HINDI
121 ENGLISH
122 ENGLISH
123 ENGLISH
124 ENGLISH
125 ENGLISH
126 ENGLISH
127 ENGLISH
128 ENGLISH
129 ENGLISH
130 ENGLISH
131 ENGLISH
132 ENGLISH
133 ENGLISH
134 ENGLISH
135 ENGLISH
136 ENGLISH
137 ENGLISH
138 ENGLISH
139 ENGLISH
140 ENGLISH
141 MATHS
142 MATHS
143 MATHS
144 MATHS
145 MATHS
146 MATHS
147 MATHS
148 MATHS
149 MATHS
150 MATHS
151 MATHS
152 MATHS
153 MATHS

Page 1

N WA =2WWPAMNMMDNDRAE_L2LBE=22OODNWOWOWPARE=_2DNOWW-2O

3,4

N W ADN=2 =20CODNOAEARERE_2BRBODN=_22OWOMNMNNM=a2 =D



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

KVS RECURITMENT EXAM 2022
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Qno Question Description key

154 MATHS
155 MATHS
156 MATHS
157 MATHS
158 MATHS
159 MATHS
160 MATHS
161 EVS
162 EVS
163 EVS
164 EVS
165 EVS
166 EVS
167 EVS
168 EVS
169 EVS
170 EVS
171 EVS
172 EVS
173 EVS
174 EVS
175 EVS
176 EVS
177 EVS
178 EVS
179 EVS
180 EVS

= W = WDNWPAR,OW=20WPEA,WW=_2PAB=a2aDN=_2DNN_2RAOPADNN_A

Page 2
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